
Multiplication par 10⁻³ (D)Trouvez chaque produit.
48 × 10⁻³ = 46 × 10⁻³ =
84 × 10⁻³ = 11 × 10⁻³ =
33 × 10⁻³ = 76 × 10⁻³ =
83 × 10⁻³ = 89 × 10⁻³ =
73 × 10⁻³ = 27 × 10⁻³ =
58 × 10⁻³ = 17 × 10⁻³ =
1 × 10⁻³ = 5 × 10⁻³ =
10 × 10⁻³ = 87 × 10⁻³ =
20 × 10⁻³ = 7 × 10⁻³ =
34 × 10⁻³ = 76 × 10⁻³ =
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Multiplication par 10⁻³ (D) SolutionsTrouvez chaque produit.
48 × 10⁻³ = 0,048 46 × 10⁻³ = 0,046
84 × 10⁻³ = 0,084 11 × 10⁻³ = 0,011
33 × 10⁻³ = 0,033 76 × 10⁻³ = 0,076
83 × 10⁻³ = 0,083 89 × 10⁻³ = 0,089
73 × 10⁻³ = 0,073 27 × 10⁻³ = 0,027
58 × 10⁻³ = 0,058 17 × 10⁻³ = 0,017
1 × 10⁻³ = 0,001 5 × 10⁻³ = 0,005
10 × 10⁻³ = 0,01 87 × 10⁻³ = 0,087
20 × 10⁻³ = 0,02 7 × 10⁻³ = 0,007
34 × 10⁻³ = 0,034 76 × 10⁻³ = 0,076
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